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(Use separate answer scripts for Objective & Descriptive)

Duration: 3 hrs. Full Marks: 70

( PART-A: Objective )
Time : 20 min. Marks : 20

Choose the correct ansiwer from the following: I1X20=20
1. The ratio between the sum of observations and the number of observations is called:
a. Mean b. Median
c. Mode d. Standard deviation
P iy re e corresponds to the half of the total frequency.
a. Mean b. Median
c. Mode d. Standard deviation
& ol i T is the half of the difference between the third quartile and the first quartile.
a. Quartile deviation b. Standard deviation
c. Range d. Average deviation
4. Regression equation formula is:
a. Y=a+bx;+bx; . +bnxn b. Y=a+bX
c. Y=Y Y/n d.Y=a+b/n
5. Which of the following, is not a measure of central tendency?
a. Percentile b. Quartile
¢. Standard Deviation d. Mode

6. In scalar matrix all elements other than elements along primary diagonal are:

a. Equal to zero b. Equal to two

c¢. Equal to three d. Equal to one
7. In transpose of matrix A, columns of matrix A becomes:

a. Multiple column b. Rows

c. Multiples d. Divisions

8. Method in which matrix rows are selected and multiply corresponding cofactors to vield
determinant is called:

a. Three factor expansion b. Co-factor expansion
¢. One factor expansion d.Two factor expansion
9. According to determinant properties determinant equals to zero if row is:
a. Multiplied to row b. Multiplied to column
c. Divided to row d. Divided to column

10. Which of the following property does not hold for matrix multiplication?
a. Associative b. Distributive
c. Commutative d. Additive Inverse
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